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Session 2/27/15-2 Summary Report : Introduction to

Networking-CS450-1

Date 2/27/15

Number of Students: 22

Total Questions: 26

Total Points Available: 27

Session Average: 23.95

Questions Asked: 27
Questions Deleted: 1
Participation Points Available: 1

Performance Points Available: 26

AP = Anonymous Polling.
Session Average = Average calculation based only on students who voted in this session.
Average Score per Question: Average calculation based only on students who responded to this question.

Question Title Time Started Time Stopped "Il(l::pboenrsgz Mas)g' g::m A‘gi;?ie

Question 2 1:09:28 PM 1:10:50 PM 19 1.00 0.89
Question 3 1:11:16 PM 1:12:28 PM 21 1.00 1.00
Question 4 1:12:50 PM 1:14:14 PM 21 1.00 0.95
Question 5 1:14:30 PM 1:15:54 PM 22 1.00 1.00
Question 6 1:16:01 PM 1:17:23 PM 22 1.00 0.32
Question 7 1:18:28 PM 1:19:45 PM 22 1.00 1.00
Question 8 1:19:51 PM 1:20:53 PM 22 1.00 0.86
Question 9 1:20:59 PM 1:22:25 PM 22 1.00 1.00
Question 10 1:22:30 PM 1:23:33 PM 22 1.00 1.00
Question 11 1:23:39 PM 1:25:02 PM 22 1.00 0.91
Question 12 1:25:09 PM 1:26:30 PM 22 1.00 1.00
Question 13 1:26:35 PM 1:27:58 PM 22 1.00 0.82
Question 14 1:28:03 PM 1:29:26 PM 22 1.00 0.59
Question 15 1:29:31 PM 1:30:41 PM 22 1.00 1.00
Question 16 1:30:44 PM 1:31:52 PM 22 1.00 0.95
Question 17 1:31:58 PM 1:33:12 PM 22 1.00 0.95
Question 18 1:33:16 PM 1:34:39 PM 22 1.00 0.91
Question 19 1:34:42 PM 1:36:05 PM 22 1.00 0.86
Question 20 1:36:08 PM 1:37:11 PM 22 1.00 1.00
Question 21 1:37:15 PM 1:38:09 PM 22 1.00 0.95
Question 22 1:38:12 PM 1:39:37 PM 22 1.00 0.41
Question 23 1:39:45 PM 1:41:08 PM 22 1.00 0.95
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| Question 24 H 1:41:15 PM H 1:42:37 PM || 22 H 1.00 H 0.86
Question 25 1:42:43 PM 1:44:06 PM 22 1.00 1.00
Question 26 1:44:14 PM 1:45:36 PM 22 1.00 1.00
Question 27 1:45:42 PM 1:47:04 PM 22 1.00 0.95

Question 2
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 19
Time Started: 1:09:28 PM Number Missing: 3
Correct Answer(s): D Class Average: 0.89
Answer # % Performance
Points
A 0 0% 0
B 0 0% 0
C 2 1% 0
D 17 89% 1
E 0 0% 0
204
1:09:28 PM 185 17 (89%
Current: Slide 3 of 28 16+
14
Next: Slide 4 of 28
124
. TCPand UDP are in transport layer _ 104
A. MAC address 54
. TCP provides reliable connections while UDP is
unreliable connections M Ifaduies [
B. IPaddress and port number
- HITP uses TCP C. Domain name and IP address *
: 2] 2 {11%
. FTP uses UDP D. MAC address and port number
0 T T
. All network applications rely on either TCP or UDP A B c D E
Question 3
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Question Type: Multiple Choice
Significant Characters: 16

Time Started: 1:11:16 PM
Correct Answer(s): C

Maximum Score: 1.00

Number of Responses: 21

Number Missing: 1
Class Average: 1.00

Answer # % Perf:;;::snce
A 0 0% 0
B 0 0% 0
C 21 100% 1
D 0 0% 0
E 0 0% 0
= A 24 -
=1 21 [100%)
204
13
A. MAC address 16
14+
A. IP address 12
10+
B. IP address and port number L
5_
C. Domain name and IP address H
24
D. MAC address and port number ¢ ' ' ' '
A B c E
Question 4
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 21
Time Started: 1:12:50 PM Number Missing: 1
Correct Answer(s): E Class Average: 0.95
Answer # % Perf;;;’rrlissnce
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A | 0 | 0
B 0 0% 0
C 0 0% 0
D 1 5% 0
E 20 95% 1
g [D s | |e 2
22
204
13+
A. Because TCP is bad 16
14+
A. Because UDP is good 12
10+
B. Because in some cases, UDP is better than TCP 5
5_
C. Because UDP is speedy 1
24
D. Cand D are both correct ! ' '
A B c
Question 5
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:14:30 PM Number Missing: 0
Correct Answer(s): E Class Average: 1.00
Answer # % Perf;(:ir:tasnce
A 0 0% 0
B 0 0% 0
c 0 0% 0
D 0 0% 0
E | 22 100% | 1
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Il

Il

3 At .IlmHg};ﬁ.I 26
244
PhuMAC:~ phu$ telnet www.cs.uic.edu 80 29 22 (100%
Trying 131.193.32.29...
Connected to www.cs.uic.edu. 204
Escape character is '"]'.
A —3GET /-phu/cs450.html HTTP/1.0 184
Host: www.cs.uic.edu 15
B—
HTTP/1.1 200 OK 144
C —sDate: Fri, 23 Jan 2015 05:31:17 GMT
Server: Apache/2.2.3 (Red Hat) 124
Last-Modified: Tue, 20 Jan 2015 17:05:17 GMT 104
ETag: "6f60b27-121-716e8d40"
Accept-Ranges: bytes g4
Content-Length: 289
Content-Type: text/html; charset=UTF-8 ;L
Connection: close 4
—> T
E —sHmML> o
<BODY>
<hl>Welcome! </hl> i} T T T
Thi i just test £ HTTP t 1.
</Bogz>1s just a test page for protoco A B c D
</HTML>
Connection closed by foreign host.
Question 6
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:16:01 PM Number Missing: 0
Correct Answer(s): D Class Average: 0.32
Performance

Answer

# %

Points

1 5%

0

o

4 18%

2 9%

O | 0O

7 32%

8 36%
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w [ Dae [ [w] |8

A. Persistent HTTP uses more connections.

B. Persistent HTTP sends fewer HTTP requests

| 4 (18%
C. Persistent HTTP sends more HTTP requests )
3_
D. Persistent HTTP uses less connections to improve D (3)
download time 21
B
E. Both B and D are correct
0- T
A B c
Question 7
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:18:28 PM Number Missing: 0
Correct Answer(s): C Class Average: 1.00
Answer # % Performance
Points
A 0 0% 0
B 0 0% 0
C 22 100% 1
D 0 0% 0
E 0 0% 0
264
24
- 22 (1009%)
204
18
16
14
12
104
8_
54
4_
2_
i} T T T 1
A B c E
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>ae | ]

= |

A. Just unnecessary protocol format
B. They are automatically generated when user hits ENTER

C. They are used to indicate the end of a header field or
section

D. None of above is correct

Question 8

Question Type: Multiple Choice
Significant Characters: 16

Time Started: 1:19:51 PM
Correct Answer(s): C

Maximum Score: 1.00
Number of Responses: 22
Number Missing: O

pa

1 A N0
LLlass Average. U.60

Answer # % Perforrnance
Points
A 0 0% 0
B 1 5% 0
C 19 86% 1
D 2 9% 0
E 0 0% 0
224
2 19 (5h%)
158+
15
A. ltis required by law 1
124
B. To improve non-persistent HTTP L
8_
B_
C. Because HTTP is stateless ol
2 (3%
ey 1 iﬁ%i
D. All above are correct 0+ ;
A B c D E
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Question 9

Question Type: Multiple Choice
Significant Characters: 16

Time Started: 1:20:59 PM
Correct Answer(s): A

Maximum Score: 1.00
Number of Responses: 22
Number Missing: O

Class Average: 1.00

Answer # % Perforrnance
Points

A 22 100% 1

B 0 0% 0

c 0 0% 0

D 0 0% 0

E 0 0% 0

2| e ] ] o]

A. Alice’s mail server will send the email to Bob’s
mail server

B. Alice’s mail client will send the email to Bob’s
mail client

C. Alice’s mail client will send the email to Bob’s
mail server

D. Alice’s mail server will send the email to Bob’s
mail client
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Il

Question 10

Question Type: Multiple Choice
Significant Characters: 16

Time Started: 1:22:30 PM
Correct Answer(s): A

Maximum Score: 1.00
Number of Responses: 22
Number Missing: O

Class Average: 1.00

Answer # % Performance
Points
A 22 100% 1
B 0 0% 0
C 0 0% 0
D 0 0% 0
E 0 0% 0
264
: 29 (100%
A. We cannot prevent that
A. The MTA will check the FROM address if it is
valid
B c E

Question 11

Question Type: Multiple Choice
Significant Characters: 16

Time Started: 1:23:39 PM
Correct Answer(s): B

file://localhost/Applications/UIC_iclicker_mac6/Classes/Introduction%?20to%20Networking-CS450-1/Reports/SessionSummary_16.html

Maximum Score: 1.00

Number of Responses: 22
Number Missing: O
Class Average: 0.91
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Answer # % Performance
Points
A 1 5% 0
B 20 91% 1
C 0 0% 0
D 1 5% 0
E 0 0% 0
244
224
204
18
A. Address in the “RCPT TO” SMTP command 161
14
124
B. Address in the “To” email header 104
8_
C. Both Aand B i
e I ) 5%
D. A or B because they must be the same 0
A B c D E
Question 12
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:25:09 PM Number Missing: 0
Correct Answer(s): D Class Average: 1.00
Answer # % Performance
Points
A 0 0% 0
B 0 0% 0
C 0 0% 0
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D 22 100% 1
E 0 0% 0
264
24
s 20 (100%
204
A. Domain name to IP address 12
B. Domain name aliases 1:
10
C. Mail server alias for a domain name 8-
B_
D. A BC 4
2_
E. AB 0 ' ' '
A B c D E
Question 13
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:26:35 PM Number Missing: 0
Correct Answer(s): D Class Average: 0.82
Answer 4 % Performance
? Points
A 1 5% 0
B 0 0% 0
C 3 14% 0
D 18 82% 1
E 0 0% 0
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g DA ] [1] |@-|
204
25 16 {B2%
164
A. A name in DNS might be mapped with many "
IP addresses .
B. Multiple domain name might be pointed to -
one |P address .
C. DNS service can provide a reverse lookup "
from an IP address to a domain name N
D. DNS only uses TCP transport service o8 LR
1 (5%
D_
A B c D E
Question 14
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:28:03 PM Number Missing: O
Correct Answer(s): E Class Average: 0.59
Answer # % Performance
Points
A 8 36% 0
B 0 0%
C 0 0% 0
D 1 5% 0
E 13 59% 1
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A. The local name server of your network
B. Top-level name server

C. Authoritative name server

D. Root name server

E. A name server set in your machine

i>clicker Session 2/27/15-2 Summary Report

Question 15

Question Type: Multiple Choice
Significant Characters: 16

Time Started: 1:29:31 PM
Correct Answer(s): A

Maximum Score: 1.00
Number of Responses: 22
Number Missing: 0

Class Average: 1.00

Answer # % Performance
Points

A 22 100% 1

B 0 0% 0

C 0 0% 0

D 0 0% 0

E 0 0% 0

w [ DAe ] [w] |8

A. True

B. False
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Question 16

Question Type: Multiple Choice
Significant Characters: 16

Time Started: 1:30:44 PM
Correct Answer(s): C

Maximum Score: 1.00
Number of Responses: 22
Number Missing: 0

Class Average: 0.95

file://localhost/Applications/UIC_iclicker_mac6/Classes/Introduction%?20to%20Networking-CS450-1/Reports/SessionSummary_16.html

Answer # % Performance
(] .
Points
A 0 0% 0
B 0 0% 0
C 21 95% 1
D 1 5% 0
E 0 0% 0
| > 2e ] ) o 241
27 21 [95%)
204
18
A. Determine which chunks to download 16+
14
B. Determine from which peers to download chunks 124
10+
C. Determine to which peers to upload chunks ol
B_
D. Determine which peers to report to the tracker as
uncooperative 1
& 1 iﬁ%i
E. Determine whether or how long it should stay after o ' ' '
completing download A B c D E
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Question 17

Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:31:58 PM Number Missing: 0
Correct Answer(s): A Class Average: 0.95
Answer # % Performance
Points
A 21 95% 1
B 0 0% 0
C 0 0% 0
D 0 0% 0
E 1 5% 0
244
A. Both TCP and UDP need connection setup
B. Delivery of UDP packets is unordered
C. TCP provides reliable transport protocol
D. TCP provides congestion control while UDP does
not 1 lﬁ%
E. Neither TCP nor UDP has delay guarantees B ¢ D E
Question 18
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:33:16 PM Number Missing: 0
Correct Answer(s): A Class Average: 0.91
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| I
Answer # % Performance
Points
A 20 91% 1
B 0 0% 0
c 2 9% 0
D 0 0% 0
E 0 0% 0
o | -] 24
A. The segment is corrupted
B. The checksum is wrong
2 3%
C. The datais correct
B c D E
D. BandC
Question 19
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:34:42 PM Number Missing: 0
Correct Answer(s): D Class Average: 0.86
Answer # % Performance
Points
A 0 0% 0
B 1 5% 0
c | 0 0% I 0

file://localhost/Applications/UIC_iclicker_mac6/Classes/Introduction%?20to%20Networking-CS450-1/Reports/SessionSummary_16.html 16/24


file://localhost/Applications/UIC_iclicker_mac6/Classes/Introduction%20to%20Networking-CS450-1/Images/L1502271308_C18.jpg
file://localhost/Applications/UIC_iclicker_mac6/Classes/Introduction%20to%20Networking-CS450-1/Images/L1502271308_Q18.jpg

3/2/2015 i>clicker Session 2/27/15-2 Summary Report

Il

Il

D 19 86% 1
E 2 9% 0
224
204
18+
164
A. Nothing 14
12
B. The packet might be corrupted 104
8_
C. The checksum might be corrupted 64
4_
D. The ACK/NAK might be corrupted 24 e 2 (9%
D_
E. Cand D A c E
Question 20
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:36:08 PM Number Missing: 0
Correct Answer(s): D Class Average: 1.00
Answer # % Performance
Points
A 0 0% 0
B 0 0% 0
C 0 0% 0
D 22 100% 1
E 0 0% 0
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o [De | ]|
26
24+
s 22 (100%
A. Checksum o
184
16
B. Checksum, ACK 144
12+
C. Checksum, ACK, NAK 10+
8_
D. Checksum, ACK, sequence number j
24
E. Checksum, ACK, NAK, sequence number i .
A B c D
Question 21
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:37:15 PM Number Missing: 0
Correct Answer(s): B Class Average: 0.95
Answer # % Performance
> Points
A 0 0% 0
B 21 95% 1
C 0 0% 0
D 1 5% 0
E 0 0% 0
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21 21 (95%
204
A. Larger sequence number 18-
164
B. Timer 147
12
C. Checksum 12
B_
D. ACK ol
& 1 (5%
E. NAK 0+
A B c D E
Question 22
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:38:12 PM Number Missing: 0
Correct Answer(s): E Class Average: 0.41
Answer # % Performance
Points
A 0 0% 0
B 0 0% 0
C 1 5% 0
D 12 55% 0
E 9 41% 1
|®Ass] ] [t |@-] 147
12
104
A. GBN uses cumulative ACKs
54
B. GBN uses timeouts to address packet loss .
C. GBN has one timer for each unacked packet 4
2_
D. GNB uses NACKs 1 (5%)
1] T T
A B c

E. CandD
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Question 23

Question Type: Multiple Choice
Significant Characters: 16

Time Started: 1:39:45 PM
Correct Answer(s): A

Maximum Score: 1.00
Number of Responses: 22
Number Missing: 0

Class Average: 0.95

Answer # % Performance
Points

A 21 95% 1

B 0 0% 0

C 0 0% 0

D 0 0% 0

E 1 5% 0
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HEE e

. The receiver has successfully received up to seq#

90

. The packet with seq#=101 was lost
. The packet with seq#=91 was lost
.AandB

. Aand C

1 lﬁ%i
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Question 24

Question Type: Multiple Choice
Significant Characters: 16

Time Started: 1:41:15 PM
Correct Answer(s): D

Maximum Score: 1.00

Number Missing: O
Class Average: 0.86

Number of Responses: 22

Answer # % Performance
(] .
Points
A 0 0% 0
B 2 9% 0
C 0 0% 0
D 19 86% 1
E 1 5% 0
B2 22| | o] 221
204
18
16
A. Relative difference between SampleRTT and 1
EstimatedRTT
12
B. Itis used as a parameter for safe margin of timeout 10
interval 8-
5_
C. Itis used to re-calculate SampleRTT .
5 2 (9%
D. AandB 1(5%
D_
E. AandC A B c E

Question 25

Question Type: Multiple Choice
Significant Characters: 16

Time Started: 1:42:43 PM
Correct Answer(s): C
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Maximum Score: 1.00
Number of Responses: 22
Number Missing: O

Class Average: 1.00
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Answer # % Performance
Points
A 0 0% 0
B 0 0% 0
C 22 100% 1
D 0 0% 0
E 0 0% 0
Bt || ][] 26
24
] 29 (1005%)
204
. . e 154
A. Pipelining o
14
B. Size of window 124
104
C. Flow control 2
44
D. Aand B 2]
a T T T T 1
E. A, B,and C R o g B E
Question 26
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:44:14 PM Number Missing: 0
Correct Answer(s): B Class Average: 1.00
Answer # % Performance
Points
A 0 0% 0
B 22 100% 1
C 0 0% 0
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D 0 0% 0
E 0 0% 0
i o[> w]|e 87
24
s 20 (100%
204
A. 1IRTT b
16
14
B. 1.5RTT 124
10
C. 2RTT *
B_
4_
D. 2.5RTT 5]
0+ T T 1
E. 3RTT A B £ E
Question 27
Question Type: Multiple Choice Maximum Score: 1.00
Significant Characters: 16 Number of Responses: 22
Time Started: 1:45:42 PM Number Missing: 0
Correct Answer(s): A Class Average: 0.95
Answer 4 % Performance
Points
A 21 95% 1
B 0 0% 0
C 0 0% 0
D 1 5% 0
E 0 0% 0
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) o

A. Available buffers in the switching nodes are full and
packets must be dropped

B. The switching nodes delay forwarding packets

C. The receiver’s buffer is full that cannot receive more

packets
D. AandB
1 5%
£ BandC . . =
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